The group G is isomorphic to the group labelled by [ 60, 10 | in the Small Groups library.
Ordinary character table of G = C6 x D10:

la 2a 2b 3a 5a 2c 6a 60 10a 3b 15a 5b 6c 6d Ge 30a 100 150 15¢ 6f 30b 30c 15d 30d
X1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
X2 1 -1 -1 1 1 1 —1 —1 —1 1 1 1 1 —1 —1 —1 —1 1 1 1 —1 —1 1 —1
X3 1 -1 1 1 1 -1 -1 1 1 1 1 1 -1 -1 1 1 1 1 1 -1 1 1 1 1
X4 1 1 -1 1 1 -1 1 —1 -1 1 1 1 -1 1 -1 -1 -1 1 1 -1 -1 -1 1 -1
s |1 -1 -1 E(@3)? 1 1 —E(3)? —E@3)? ~1 E(3 E(3)? 1 E3)2 -—E@B3) —E@3) —E(3)? ~1 E(3 E(3)? E(3) —E(3) —E(3)? E(3) —E(3)
x6 | 1 -1 -1  E(@3) 1 1 —E(3) —E(3) —1 E(3)? E(3) 1 EB) -E(3)? —E(3)? —E(3) -1 E(3)? E(3) E(3)? —E(3)? —E(3) E(3)? —E(3)?
xr |1 -1 1 E(3)? 1 -1 —E(3)? E(3)? 1 E(3 E(3)? 1 —-E(3)2 —E(@3) E(3) E(3)? 1 E(3) E(3)? —E(3) E(3) E(3)? E(3) E(3)
xs |1 -1 1  E@3) 1 -1 —E(3) E(3) 1 E(3)? E(3) 1 —EB) -E@B)?  E(3)? E(3) 1 E(3)? E(3) —E(3)? E(3)? E(3) E(3)? E(3)?
xo |1 1 =1 E(3)3 1 -1 E(3)? —E(3)? -1 E(3) E(3)? 1 —-E(3)2  E@3) —E(3) —E(3)? -1 E(3) E(3)? —FE(3) —E(3) —E(3)? E(3) —E(3)
Xxo| 1 1 -1 E(3) 1 -1 E(3) —E(3) -1 E(3)? E(3) 1 —-E(3) E(3)? —E(3)? —E(3) -1 E(3)? E(3) —E(3)? —E(3)? —E(3) E(3)? —E(3)?
x| 1 1 1 E(3)? 1 1 E(3)? E(3)? 1 E(3) E(3)? 1 E(3)? E(3) E(3) E(3)? 1 E(3) E(3)? E(3) E(3) E(3)? E(3) E(3)
x2| 1 1 1 E(3) 1 1 E(3) E(3) 1 E(3)? E(3 1 E(3) E(3)? E(3)? E(3) 1 E(3)? E(3) E(3)? E(3)? E(3) E(3)? E(3)?
xiz| 2 0 2 2 EG)+E(B)?* 0 0 2 E(5) + E(5)* 2 E(5) + E(5)* E(5)*+ E(5)? 0 0 2 E(5) + E(5)* E(5)? + E(5)3 E(5) + E(5)* E(5)*+ E(5)® 0 E(5) + E(5)* E(5)* + E(5)3 E(5)? + E(5)? E(5)*+ E(5)3
Xu|2 0 2 2 E(G)2+E(G)? 0 0 2 E(5)2 4+ E(5)3 2 E(G)?+E(5)®  E(5)+ E(5) 0 0 2 E(5)2 + E(5)3 EG)+EG)*  E()2+E(B) E(5) + E(5)* 0 E(5)% + E(5) E(5) + E(5)* E(5) + E(5)* E(5) + E(5)*
x5 2 0 2 2xE@B3)? EGB)+EG5)?* 0 0 2xE(3)2  EG)+E(G)?  2xE@B) E(15"+ E(15Y  E()2+ E(5)? 0 0 2% E(3) E(15)"+ E15)®  E(G)?2+E(5)?®  E(15)%+E(15)%  E(15) + E(15)* 0 E(15)% + E(15)8 E(15)+ E(15)*  EQ15)1 + E@15)Y  E(15)! + E(15)H
xi6| 2 0 2 2xE@B) EG+EG* 0 0 2% E(3) E(G)+E(B)?* 2xE(B3)?2 EQ15)*+EQ15)% E(B)?2+E(5)? 0 0 2% F(3)2 E(15)2 + E(15)8 E()2+E(B)?  E(15)7+E(15)1¥  EQ15)MY + E(15)H 0 E(15)"+E@15)B  EA5Y +EQ15)M  E(15) + E(15)4 E(15) + E(15)*
xiz| 2 0 2 2xEB3)?2 EG)?Z?+EGB)? 0 0 2xE(3)2  EG)?+EG(B)? 2+xE@B)  EQ15)+ E(15*  E(5)+ E(5)* 0 0 2% E(3) E(15) + E(15)* E()+ E(G)*  E(15)M+ E(15)"  E(15)7+ E(15)!3 0 E15)M + B(15)4  E(15)7+ E(15)13  E(15)2 + E(15)® E(15)%2 + E(15)8
xis| 2 0 2 2xEB) EG5)?+EGB)? 0 0 2xE(3)  EG)??+EG(B)? 2xE(3)?2 E(15)M+ E(15)Y  E(5)+ E(5)? 0 0 2xFE(3)2  E15Y+E(15)Y  E(B)+ E(G)* E(15)+ E(15)*  E(15)? + E(15)8 0 E(15) + BE(15)* E(15)?% + E(15)%  E(15)"+ E(15)¥  E(15)7 + E(15)!3
X192 0 =2 2 E(B)+E(B)?* 0 0 -2 —E(5) — E(5)* 2 E(5) + E(5)* E(5)* + E(5)3 0 0 -2 —E(5) — E(5)* —E(5)%* — E(5)3 E(5) + E(5)* E(5)?+ E(5)3 0 —E(5) — E(5)* —E(5)% — E(5)3 E(5)%* + E(5)3 —E(5)% — E(5)3
X0 | 2 0 =2 2 E(G)?2+E(B)? 0 0 -2 —E(5)? — E(5)3 2 E(5)? + E(5)3 E(5) + E(5)* 0 0 -2 —E(5)? — E(5)3 —E(5) — E(5)* E(5)? + E(5)3 E(5) + E(5)* 0 —E(5)? — E(5)3 —E(5) — E(5)* E(5) + E(5)* —E(5) — E(5)*
a1 | 2 0 —2 2xE(3)? EGB)+EG)* 0 0 —2xE®3)? —E(B)—EG)* 2+E@B3) FE(15)7 + E(15)3 E(5)2 +EGB® 0 0 —2xE(3) —E(15) — E(15)3 —E(5)2—E(5)® E(15)2+ E(15)®  E(15) + E(15) 0 —E(15)2— E(15)*  —E(15)— E(15)*  E(15)" + E(15)4 —FE(15)" — E(15)4
X2 | 2 0 =2 2xE@B3) EG+EG* 0 0 -2xE(3) —E(B)-E(G)* 2xE@B3)? EQ15)?+E(15)% E(5)?2+E(5)? 0 0 —-2xE(3)2 —E(15)2?-E(15)® —E(6)?-E()> E(15)7"+E(15)1¥ EQ15)Y + E(15)H" 0 —E(15)7 - E(15)13  —E(15)11 — E(15)*  E(15) + E(15)* —E(15) — E(15)*
xe3| 2 0 =2 2xE3)? E(G)??+E(B)? 0 0 —-2xFE(3)2 —-E()?2-E()® 2xE(3) E(15)+E(15* E(5)+ E(5)* 0 0 2% FE(3) —E(15)—-E(15)* —E(5)-E()* E(15)1+ E(15)* EQ15)"+ E(15) 0 —E(15)11 — E(15)1* —E(15)" - E(15)®  E(15)?+ E(15)®  —E(15)? — E(15)®
Xoa | 2 0 =2 2xEB3) E(BZ+E(B)S 0 0 —2xE(3) —E()2—E(5)3 2x«E3)? E(15)!1+ E(15)“ E(5)+ E(5) 0 0 —2%E(3)? —E(15)!—E®15% —EG)—EG)* E®15) +E(15)*  E(15)2 + E(15)8 0 —E(15) — E(15)*  —E(15)2 — E(15)®  E(15)7 + E(15)'3  —E(15)7 — E(15)!3
Trivial source character table of G = C6 x D10 at p = 2:
Normalisers N; Ny Ny N3 Ny N5
p-subgroups of G up to conjugacy in G Py 1) P Py Ps
Representatives n; € N, la 3a 5a 3b 15a 50 150 15¢ 15d la 3a 5a 3b 15a 5b 150 15¢ 15d la 3a 3b la 3a 3b la 3a 3b
I'xi+1l-x2+1-xa+1-xa+0-x54+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x14+0-Xx15+0-x16 +0-x17+0-x18 +0-Xx19+0-x20+0-x21+0-x220+0-x23+0-x24 | 4 4 4 4 4 4 4 4 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+1-x5+0-x6+1-x7+0-xs+1-xo+0-x10+1-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16+0-Xx17+0-Xx18+0-x190+0-x20+0-x21+0-x22+0-x23+0-x24 | 4 4xFE(3)? 4 4% E(3) 4% B(3)? 4 4% E(3) 4% E(3) 4% E(3) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x44+0-x5+1-x6+0-x7+1-xs+0-x0+1-x10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx190+0-x20+0-x21+0:-x220+0-x23+0:%24| 4 4*E(3) 4 4*E(3)2 4*E(3) 4 4*E(3)2 4*E(3) 4*E(3)2 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x54+0-x64+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+1-x14+0-x15+0-x16+0-x17+0-x18+0-x190+1-x20+0-x21+0:-x224+0-x23+0-x24 | 4 4 2*E(5) +2*E( 3 4 2*E(5)2+2*E(5)3 2*E(5)+2*E(5)4 2*E(5)2+2*E(5)3 2*E(5)+2*E(5)4 2*E(5)+2*E(5)4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x34+0-x4+0-x54+0-x6+0-x7+0-xs+0-X0+0-x10+0-x11+0-x12+1-x13+0-x14+0-x15+0-x16+0-x17+0-x18+1-x19+0-X20+0-x21 +0-x220+0-Xx23+0-x04| 4 4 2*E()+2*E( )4 4 2% E(5) +2x E(5)* 2% E(5)%+2x E(5)® 2% E(5) +2x E(5)* 2% E(5)%+2x E(5)3 2% E(5)%2+2x E(5)3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x14+0-x24+0-x3+0-xa+0-x5+0-x6+0-x74+0-x8+0-x0+0-x10+0-x11+0-x12+0-Xx134+0-x14+0-X15+0-x16+0-x17+1-X18+0-x104+0-x20+0-X21 +0-x22+0-x23+1-x0a | 4 4xE@B) 2xE(5)*+2xE(5)° 4xE3)*> 2xE(15)" +2xE(15)" 2+ E(5)+2xE(5)*  2xE(15) +2x E(15)* 2% E(15)2 +2x E(15)8 2% E(15)" +2* E(15)!3 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x1a+1-X15+0-Xx16+0-x17+0-x18+0-X10+0-x20+1 X1 +0 X2 +0-X23+0-x24 | 4 4xE3)2 2+xE(B)+2xE(5)* 4xE3) 2xE(15)7"+2xE(15)13 2xE(5)2+2xE(5)? 2+ FE(15)2+2x E(15)8 2% E(15)+ 2% E(15)* 2% E(15)1 +2x E(15)4 | 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x44+0-x54+0-x6+0-x74+0-xs+0-x0+0-x10+0-x11+0-x124+0-x13+0-x14+0-x15+0-x16+1-Xx17+0-x18+0-Xx10+0-x20+0:-x21+0-x220+1-x23+0: %24 ]| 4 4*E(3)2 2>|<E(5)2+2*E’(5‘3 4*E(3) 2*E(15)+2*E(15)4 2*E(5)+2*E(5)4 2*E(15)11+2*E(15)14 2>l<E‘(15)7+2>|<E'(15)1‘3 2*E(15)2+2*E(158 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
O-x14+0-x2+0-x3+0-x44+0-x5+0-x64+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x134+0-x14+0-x15+1-x16+0-x17+0-x18+0-x10+0-x20+0-x21+1:-x224+0-x23+0-x24 | 4 4*E(3) 2*E(5)+2*E(5)4 4*E(3)2 2*E(15)2+2*E(15)8 2*E(5)2+2*E(5)3 2*E(15)7+2*E(15)13 2*E(15)11+2*E(15)14 2*E(15)+2*E(15)4 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
1-x1+0-x2+1-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-X9+0-Xx10+0-x11+0-x12+0-x13+0-x14a+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-Xx20+0-x21+0-Xx22+0-x23+0-x24 | 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0
0-x14+0-x24+0-x3+0-xa+0-x5+0-x6+1-x7+0-xs+0-x0+0-x10+1-x11+0-x12+0-X134+0-x14+0-Xx154+0-x16+0-Xx174+0-x18+0-X10+0-x20+0-x21+0-x220+0-x23+0-x24 | 2 2xE(3)? 2 2% E(3) 2x B(3)* 2 2% E(3) 2 E(3)? 2% E(3) 2 2xE(3) 2 2% E(3) 2% E(3)? 2 2x E(3) 2% E(3)? * E(3) 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+1-xs+0-x0+0-x10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-Xx17+0-x18+0-Xx19+0-x20+0-x21+0:-x20+0-x23+0:%024]| 2 2*E(3) 2 2*E(3)2 2*E(3) 2 2*E(3)2 2*E(3) 2*E(3)2 2 2*E(3) 2 2*E(3)2 2*E(3) 2 2*E(3)2 2*E(3) E( )2 0 0 0 0 0 0 0 0 0
0-x14+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+1-Xx14+0-x15+0-x16+0-x17+0-x18+0-Xx19+0-Xx20+0-x21 +0-x22+0-x23+0"x24 | 2 2 E(5)%+ E(5)° 2 E(5)* + E(5)° E(5) + E(5)* E(5)* + E(5)° E(5) + E(5)* E(5) + E(5)* 2 2 E(5)* + E(5)° 2 E(5)> + E(5)° E(5)+ B(5)* E(5)* + E(5)° E(5) + B(5)* ()+ B(5)* 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-x10+0-X11+0-x12+1-Xx13+0-x14+0-Xx15+0-x16 +0-Xx17+0-x18 +0-X10+0-x20+0-x21 +0-x220+0-x23+0-x21 | 2 2 E()+E( ) 2 E(5) + E(5)* E(5)* + E(5)° E(5) + E(5)* E(5)> + E(5)° B(5)> + E(5)° 2 2 E()+E(5)4 2 E(5)+E(G)  B(G)?+E(5)? E(5)+E((5)! E(5)* + E(5)° E(5)% + E(5)° 0 0 0 0 0 0 0 0 0
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x0+0-Xx10+0-Xx11+0-x12+0-x13+0-x14+0-x15+0-x16+1-X17+0-Xx18+0-x10+0-x20+0-x21 +0-x22+0-Xx23+0-x24 | 2 2xE(3)? E(5)*+ E(5)* 2% E(3) E(15) + E(15)* E(5) + E(5)* E(15)'" + E(15) E(15)" + E(15)1® E(15)* + E(15)® 2 2+EQ3)> E(G)+E()?® 2xE@B)  E(15)+E15)*  E(G)+E(G)*  E(15)"+E(15)  E(15)7+ E(15)  E(15)*+ E(15)° | 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x34+0-x4a+0-x5+0-x6+0-x7+0-xs8+0-x0+0-Xx10+0-x11+0-Xx124+0-x13+0-Xx14+0-x15+1-X16+0-x17+0-x18+0-x10+0-x20+0-x21 +0-x22+0-x23+0-x24 | 2 2% FE(3) E(5)—|—E(5)4 2% F(3)? E(15)% + E(15)8 E(5)? + E(5)3 E(15)7 + E(15)'3 E(15)1 + E(15)14 E(15) + E(15)% 2 2xE3) EB ) +E(G) 2xE(3)? E15?+E15)% EG)?+EG)? EW5"+E(15Y EA5)Y +E(15)Y  E(15) + E(15)* 0 0 0 0 0 0 0 0 0
0-x1+0-x2+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-Xx16+0-Xx17+1-x18+0-x19+0-x20+0-x21+0-X22+0-X23+0"x24 | 2 2% E(3) E(5)* + E(5) 2% E(3)? E(15)' + B(15)" E(5) + E(5)* E(15) + B(15)* E(15)* 4 E(15)* E(15)" + E(15)" 2 2xE(3) EG)P+E()? 2xE(3)? BE(15"+E(15" E(G)+E()*  B(15)+E(15)*  B(15)%+ E(15)°  B(15)" + E(15)" | 0 0 0 0 0 0 0 0 0
0-x14+0-x24+0-x3+0-Xxa+0-x5+0-x64+0-x7+0-xs+0-x0+0-x10+0-x11+0-x12+0-x13+0-x1a+1-x15+0-x16 +0-x17+0-x18 + 0- X10 +0-x20 + 0-x21 +0-x22 + 0-x23 +0-x24 | 2 2% E(3)* E(5) + E(5)* 2xE(3) E(15)" + E(15)" E(5)* + E(5) E(15)* + E(15)* B(15) + BE(15)* E(15)'" + E(15)" 2 2+EQ@B)? EG)+EG) 2+E(3) E15)"+E(15Y EG)’+E(G)®  E(15)*+E(15°  BE(15)+E(15)*  E@15)'" + E(15)™ | 0 0 0 0 0 0 0 0 0
1-x1+0-x24+0-x3+1-xa+0-x5+0-x6+0-x7+0-x8+0-x9+0-x10+0-x11+0-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-Xx18+0-x19+0-x20+0-x21 +0-x2204+0-x23+0-x24 | 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 2 2 2 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x4+0-x5+0-x6+0-x74+0-xs+1-x0+0-x10+1-x11+0-x124+0-x135+0-x14+0-x15+0-x16+0-x17+0-Xx18+0-X10+0-x20+0-x21+0-x22+0:-x23+0-x24 | 2 2xFE(3) 2 2% E(3) 2*E(3)2 2 2% FE(3) 2*E(3)2 2x FE(3) 0 0 0 0 0 0 0 0 0 2 2*E(3)2 2% FE(3) 0 0 0 0 0 0
0-x1+0-x24+0-x34+0-x44+0-x54+0-x6+0-x7+0-xs+0-x0+1-x10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-Xx17+0-x18+0-Xx190+0-x20+0-x21+0:-x20+0-x23+0:%024| 2 2*E(3) 2 2*E(3)2 2*E(3) 2 2*E(3)2 2*E(3) 2*E(3)2 0 0 0 0 0 0 0 0 0 2 2*E(3) 2*E(3)2 0 0 0 0 0 0
1-x1+1-x2+0-x3+0-x4+0-x5+0-x6+0-x7+0-x8+0-x9+0-Xx10+0-x11+0-x12+0-Xx13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx190+0-x20+0-x21 +0-x22+0-x23+0-x24 | 2 2 2 2 2 2 2 2 2 0 0 0 0 0 0 0 0 0 0 0 0 2 2 2 0 0 0
0-x1+0-x2+0-x34+0-x4+1-x5+0-x6+0-x74+0-xs+0-x0+0-x10+1-x11+0-x124+0-x13+0-x14+0-x15+0-x16+0-x17+0-Xx18+0-X10+0-x20+0-x21+0-x22+0-x23+0-x24| 2 2xFE(3) 2 2% E(3) 2*E(3)2 2 2% FE(3) 2*E(3)2 2x FE(3) 0 0 0 0 0 0 0 0 0 0 0 0 2 2*E(3)2 2% E(3) 0 0 0
O-x1+0-x24+0-x34+0-x44+0-x5+1-x6+0-x7+0-xs+0-x0+0-x10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16+0-x17+0-x18+0-Xx190+0-x20+0-x21+0:-x20+0-x23+0:%24| 2 2*E(3) 2 2*E(3)2 Q*E(g) 2 2*E(3)2 2*E(3) 2*E(3)2 0 0 0 0 0 0 0 0 0 0 0 0 2 2*E(3) 2*E(3)2 0 0 0
1-x14+0-x2+0-x3+0-x4a+0-x5+0-Xx6+0-x7+0-xs+0-x0+0-Xx10+0-x11+0-x12+0-x13+0-x14+0-x15+0-X16+0-X17+0-x18+0-x190+0-x20+0-x21+0-x22+0-x23+0-x24 | 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
0-x14+0-x24+0-x3+0-Xxs4+0-x5+0-x64+0-x7+0-xs+0-Xo+0-x10+1-X11+0-x12+0-X15+0-x14+0-X15+0-x16+0-X17+0-x18+0-X10+0-x20+0-X21 +0-x22 +0-X234+0-x2s | 1 E(3)2 1 E(3) E(3)2 1 E(3) E(3)2 E(3) 1 E®3)? 1 E@3 E(3)? 1 E(3 E(3)2 E(3) 1 E®3)? E(3 1 E(3)? EGB) |1 E@B? E@B)
0-x1+0-x24+0-x3+0-xa+0-x5+0-x6+0-x7+0-xs+0-x90+0-Xx10+0-x11+1-x12+0-x13+0-x14+0-x15+0-x16 +0-x17+0-X18 + 0- X190+ 0-x20 £ 0-x21 +0-x22+0-x25+0- x24 | 1 E(3) 1 E(3)* E(3) 1 E(3)? E(3) E(3)° 1 E(3) 1 E(3)° E(3) 1 E(3)° E(3) E(3)? 1 E(3) EGB)? |1 E(3) EB)? |1 EQB) E@B)?
P, = Group([()]) =2 1
Py = Group([(1,3)(2,6)(4,9)(5, 10)(7, 14)(8, 15)(11, 19)(12, 20) (13, 21)(16, 25)(17, 26)(18, 27) (22, 31) (23, 32) (24, 33) (28, 37)(29, 38)(30, 39) (34, 43)(35, 44)(36, 45) (40, 48) (41, 49) (42, 50) (46, 53) (47, 54) (51, 56) (52, 57) (55, 59) (58, 60)]) = C2
Group([(1,2)(3,6)(4,7)(5,42)(8, 36)(9, 14)(10, 50)(11, 16)(12, 52) (13, 30) (15, 45) (17, 47) (18, 24)(19, 25)(20, 57)(21, 39) (22, 58) (23, 41)(26, 54) (27, 33) (28, 55)(29, 35) (31, 60)(32, 49) (34, 51)(37, 59) (38, 44) (40, 46) (43, 56) (48, 53)]) = C2
Py = Group([(1,6)(2,3)(4, 14)(5,50)(7, 9)(8,45)(10, 42)(11, 25)(12, 57)(13, 39) (15, 36) (16, 19) (17, 54) (18, 33)(20, 52)(21, 30)(22, 60) (23, 49) (24, 27) (26, 47) (28, 59) (29, 44) (31, 58) (32, 41)(34, 56) (35, 38) (37, 55) (40, 53) (43, 51) (46, 48)]) = C2
Group([(1,3)(2,6)(4,9)(5,10)(7, 14)(8, 15)(11, 19)(12, 20)(13, 21)(16, 25)(17, 26) (18, 27)(22, 31)(23, 32)(24, 33)(28, 37)(29, 38) (30, 39) (34, 43) (35, 44) (36, 45)(40, 48) (41, 49)(42, 50) (46, 53) (47, 54) (51, 56) (52, 57) (55, 59) (58, 60), (1, 2)(3, 6)(4, 7) (5, 42)(8, 36)(9, 14)(10, 50) (11, 16)(12, 52) (13, 30) (15, 45) (17, 47) (18, 24)(19, 25)(20, 57)(21, 39)(22, 58) (23, 41)(26, 54) (27, 33) (28, 55)(29, 35) (31, 60) (32, 49)(34, 51)(37, 59) (38, 44) (40, 46) (43, 56) (48, 53)]) = C2 x C2
Ny = Group([(1,2)(3,6)(4,7)(5,42)(8, 36)(9, 14)(10, 50) (11, 16)(12, 52)(13, 30) (15, 45) (17, 47)(18, 24)(19, 25)(20, 57) (21, 39) (22, 58) (23, 41)(26, 54)(27, 33) (28, 55)(29, 35)(31, 60) (32, 49) (34, 51) (37, 59) (38, 44) (40, 46) (43, 56) (48, 53), (1, 3)(2, 6)(4, 9)(5, 10)(7, 14)(8, 15)(11, 19)(12, 20)(13, 21)(16, 25)(17, 26)(18, 27)(22, 31)(23, 32)(24, 33)(28, 37)(29, 38) (30, 39) (34, 43) (35, 44) (36, 45) (40, 48) (41, 49)(42, 50) (46, 53) (47, 54) (51, 56) (52, 57) (55, 59) (58, 60), (1,4, 11)(2, 7, 16)(3,9, 19)(5, 12, 22) (6, 14, 25)(8, 17, 28)(10, 20, 31)(13, 23, 34) (15, 26, 37)(18, 29, 40) (21, 32, 43)(24, 35, 46) (27, 38, 48)(30, 41, 51)(33, 44, 53)(36, 47, 55) (39, 49, 56)(42, 52, 58) (45, 54, 59)(50, 57, 60), (1, 5, 13, 24, 36)(2, 8, 18, 30, 42)(3, 10, 21, 33, 45)(4, 12, 23, 35, 47) (6, 15, 27, 39, 50)(7, 17, 29, 41, 52)(9, 20, 32, 44, 54) (11, 22, 34, 46, 55) (14, 26, 38, 49, 57) (16, 28, 40, 51, 58)(19, 31, 43, 53, 59) (25, 37, 48, 56, 60)]) = C6 x D10
Ny = Group([(1,2)(3,6)(4,7)(5,42)(8,36)(9, 14)(10, 50) (11, 16)(12, 52)(13, 30) (15, 45) (17, 47) (18, 24)(19, 25)(20, 57) (21, 39) (22, 58) (23, 41)(26, 54)(27, 33) (28, 55)(29, 35)(31, 60) (32, 49) (34, 51) (37, 59) (38, 44) (40, 46) (43, 56) (48, 53), (1, 3)(2, 6)(4, 9)(5, 10)(7, 14)(8, 15)(11, 19)(12, 20)(13, 21)(16, 25)(17, 26)(18, 27)(22, 31)(23, 32)(24, 33)(28, 37)(29, 38) (30, 39) (34, 43) (35, 44)(36, 45) (40, 48) (41, 49)(42, 50) (46, 53) (47, 54) (51, 56) (52, 57) (55, 59) (58, 60), (1,4, 11)(2, 7, 16)(3,9, 19)(5, 12, 22) (6, 14, 25)(8, 17, 28)(10, 20, 31)(13, 23, 34) (15, 26, 37)(18, 29, 40) (21, 32, 43)(24, 35, 46) (27, 38, 48)(30, 41, 51) (33, 44, 53)(36, 47, 55) (39, 49, 56)(42, 52, 58) (45, 54, 59) (50, 57, 60), (1, 5, 13, 24, 36)(2, 8, 18, 30, 42)(3, 10, 21, 33, 45)(4, 12, 23, 35, 47) (6, 15, 27, 39, 50)(7, 17, 29, 41, 52)(9, 20, 32, 44, 54) (11, 22, 34, 46, 55) (14, 26, 38, 49, 57) (16, 28, 40, 51, 58)(19, 31, 43, 53, 59) (25, 37, 48, 56, 60)]) = C6 x D10
N3 = Group([(1,2)(3,6)(4, 7)(5,42)(8, 36)(9, 14)(10, 50)(11, 16)(12, 52) (13, 30) (15, 45)(17, 47) (18, 24) (19, 25) (20, 57) (21, 39) (22, 58)(23, 41)(26, 54)(27, 33)(28, 55)(29, 35) (31, 60) (32, 49) (34, 51) (37, 59)(38, 44) (40, 46)(43, 56)(48, 53), (1, 3)(2, 6)(4, 9)(5, 10)(7, 14)(8, 15)(11, 19)(12, 20)(13, 21)(16, 25)(17, 26)(18, 27)(22, 31)(23,32)(24,33)(28 37)(29. 38)(30, 39) (34, 43) (35, 44) (36, 45) (40, 48) (41, 49) (42, 50) (46, 53) (47 54) (51, 56) (52, 57) (55, 59) (58, 60). (1,4, 11)(2, 7. 16)(3,9. 19)(5, 12, 22)(6. 14, 25)(8. 17, 28) (10, 20, 31) (13, 23, 34) (15, 26, 37)(18, 20, 40)(21, 32, 43)(24. 35, 46) (27, 38, 48) (30, 41, 51)(33. 44, 53) (36, 47, 55)(39, 49, 56)(42, 52. 58)(45. 54. 59) (50, 57. 60)]) = C6 x C2
Ny = Group([(1, 6)(2,3)(4, 14)(5, 50) (7, 9)(8, 45)(10, 42) (11, 25)(12. 57)(13, 39) (15, 36)(16, 19)(17, 54)(18, 33)(20, 52)(21, 30)(22, 60)(23, 49) (24, 27)(26, 47)(28, 59) (29, 44) (31, 53)(32, 41)(34, 56)(35, 38) (37, 55) (40, 53) (43, 51) (46, 48, (1, 2)(3, 6)(4.7) (5, 42)(8, 36)(9, 14)(10, 50) (11, 16)(12, 52)(13, 30)(15, 45) (17, 47)(18, 24) (19, 25)(20, 57) (21, 39)(22, 53)(23, 41)(26, 54) (27, 33) (28, 55) (29, 35) (31, 60) (32, 49) (34, 1) (37, 59) (38, 44) (40, 46) (43, 56) (48, 53). (1, 3)(2, 6)(4, 9)(5, 10)(7, 14)(8, 15)(11, 19)(12, 20)(13, 21)(16, 25) (17, 26) (18, 27)(22, 31)(23, 32) (24, 33) (28, 37) (29, 38) (30, 39) (34, 43) (35, 44) (36, 45) (40, 48) (41, 49) (42, 50) (46, 53) (47, 54) (51, 56) (52, 57) (55, 59) (58, 60), (1, 4, 11)(2, 7, 16)(3, 9, 19)(5, 12, 22)(6, 14, 25)(8, 17, 28)(10, 20, 31)(13, 23, 34) (15, 26, 37) (18, 20, 40) (21, 32, 43)(24, 35, 46) (27, 38, 48) (30, 41, 51)(33, 44, 53) (36, 47, 55)(39, 49, 56) (42, 52, 58) (45, 54, 59) (50, 57, 60)]) = C6 x C2
N5 = Group([(1,2)(3,6)(4,7)(5,42)(8,36)(9, 14)(10, 50)(11, 16)(12, 52)(13, 30) (15, 45) (17, 47) (18, 24)(19, 25)(20, 57) (21, 39) (22, 58) (23, 41)(26, 54) (27, 33) (28, 55)(29, 35)(31, 60) (32, 49) (34, 51) (37, 59) (38, 44)(40, 46) (43, 56) (48, 53), (1, 3)(2, 6)(4, 9)(5, 10)(7, 14)(8, 15)(11, 19)(12, 20)(13, 21)(16, 25)(17, 26)(18, 27)(22, 31)(23, 32) (24, 33)(28, 37) (29, 38) (30, 39) (34, 43)(35, 44)(36, 45) (40, 48) (41, 49) (42, 50) (46, 53) (47, 54) (51, 56) (52, 57) (55, 59) (58, 60), (1,4, 11)(2, 7,16)(3,9, 19)(5, 12, 22) (6, 14, 25)(8, 17, 28)(10, 20, 31)(13, 23, 34) (15, 26, 37)(18, 29, 40) (21, 32, 43)(24, 35, 46) (27, 38, 48)(30, 41, 51)(33, 44, 53)(36, 47, 55)(39, 49, 56) (42, 52, 58) (45, 54, 59)(50, 57, 60)]) = C6 x C2



